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Some equations are much harder to solve
using algebra, such as:

r’ —x =12
or $2+7$=12

or 13 —4dr =17



We can use to solve
complicated equations. Although we
cannot find the solution, we can find

It to a certain

Solve, correct to 1 decimal place
0 —Adr =T



Step 1: Try a solution,eg = 1
r? —4r = (1)% — 4(1)
=1-—-4
= —3
Step 2: Is our result too low or too high?

For t = 1, we found -3
This is too low, so try £ = 2



Step 3: Try our new solution, z = 2

=8—3
=0

Again, this is too low. Try £ = 3



Step d: Try ' — 3

r? — 4x = (3)° — 4(3)
=27 — 12
=15

Too high! Try x = 2.5



Step 5: Try & = 2.5

T’ — 4z = (2.5)° — 4(2.5)
= 15.625 — 10
= 5.625

Toolow! Try & = 2.6



Step6: Try £ = 2.6

T’ — 4z = (2.6)° — 4(2.6)
= 17.576 — 10.4
= 7.176

Slightly too high!
But we’ve found our solution...



Step 7: We found
for xt =2.0 = 95.625

r=206 = T7.176

We are trying to get 7 as a result, so
X must be between 2.5 and 2.6

But we are trying to find it to 1dp,
So we can use the closest result:

r = 2.6



Solve, correct to 1 decimal place
r° +2x =5

Step 1:



Solve, correct to 1 decimal place
r° +2x =5

Step1: Try & = 1



Solve, correct to 1 decimal place
r° +2x =5

Step1: Try & = 1

% + 22 = (1) + 2(1)
=1+2
= 3



Step 2:



Step2:Try x = 2



Step2:Try & = 2
% + 22 = (2)% + 2(2)
=444
= 8

Step 3:



Step 2: Try x = 2
% + 22 = (2)% + 2(2)
=444
= 8

Step3:Try x = 1.5



Step 2: Try x = 2
%+ 22 = (2)% + 2(2)
=444
=&

Step3:Try x = 1.5

r? + 22 = (1.5)% + 2(1.5)
=2.25+ 3
= 5.25



Step 4.



Step4:Try x = 1.4



Step4:Try x = 1.4
% + 2z = (1.4)% 4+ 2(1.4)
= 1.96 4 2.8
= 4.76



Step4:Try x = 1.4
% 4 22 = (1.4)% +2(1.4)
= 1.96 + 2.8
— 4.76

Step5:x =14 = 4.76
r=195 = 95.25



Step4:Try x = 1.4
% + 2z = (1.4)% 4+ 2(1.4)
= 1.96 4 2.8
= 4.76

Step5:x =14 = 4.76
r=195 = 95.25

So x = 1.4 (to 1 decimal place)




